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DPP — 2 (Vectors)
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Written Solution on Website:- —https://physicsaholics.com/note/notesDetalis/84

Q1. Direction of unit vector of vector Ais:
(a) Always in the direction of A
(b) Always opposite to the direction of A

(c) Always perpendicular to the direction of A
(d) In any random direction.

Q2. Which of the following is negative vector of 4 < 2i + 3+ 4k:

(a) B = 21 — 3] + 4k (b) B]= 21 + 3] ‘+4k

(c) B = —2i—3j — 4k (d).B = —204 3] — 4k
Q3. Find the magnitude of vector P = 107 +'30j :

(a) 10v10 (b)10v/20

(c) 2010 (d) 45
Q4. Represent the givenvector in { & j notation:

hy
|4] =10
2 0
8= 60 X

(a) A =51 % 5] (b) A = 51— 5§

(c) 4 = 51+ 5V3j (d) 4 = 5v3i + 5§
Q5. Find a unit vector in the direction of P =1+ j:

p—147 — Lty J
@P=1i+] (b) P = \/—+‘/?
Pp=17—1% =L _L

C)P=i—j (d)P—ﬁ 7z
Q6. Find a vector 6 of magnitude 5 unit in the the direction of P=6i+ 87:

(a)§—6l+8] (b)6—31+4]

©0=2i+2] (@) §=5i++]
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Q7. Find a vector of magnitude 3 in the direction opposite to the direction of ¢ = %i + % J:
] 1, 1, p—_3;_35
(a)P——\/E_l—E\/]_ (b) P = Si=2J
] 3,_¥3s p—_373_23;
©P=-"1—"] dpP=-5i-F%]
Q8. Find the resultant vector R, where R = A+ B, if A =2+ 3jand B = 41 — 4f :
@ R=61+7] (b)R=6i—j
C©)R=61—7] dP=i—7j
Q9. Find the resultant vector R = A — B, if A=5i—3jand B =31+ 7] :
() R = 21 — 10§ (b) R = 21 — 4f
(C)R=81—7] (d) P =20+4j

Q10. If4=4i—3jand B = 6 + 8, then magnitude and\diréction-of 4 + B:
(@) 5,tan™? G) from x — axis
(b) 5v/5, tan™? G) from x — axis
(c) 10, tan"1(5) from x ~ axis
(d) 25,tan?! G) from x'— axis

Answer Key
Q.la Q.2d Q3a Qdc Q5Db

Q6b |07d |Q8b |Q9a |0Q.10b
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